
Levado™ Height Adjustable Desk Base 

PLEASE READ INSTRUCTIONS BEFORE USE.
DO NOT DISCARD.

LIRE LES INSTRUCTIONS AVANT UTILISATION.
NE PAS JETER.

LEA LAS INSTRUCCIONES ANTES DEL USO.
NO TIRAR.

BITTE LESEN SIE DIE ANLEITUNGEN SORGFÄLTIG DURCH, 
BEVOR SIE DAS GERÄT BENUTZEN.
BITTE GUT AUFBEWAHREN.

LEGGERE LE ISTRUZIONI PRIMA DELL’USO.
NON GETTARE.

LEES DE INSTRUCTIES VOOR GEBRUIK.
NIET WEGWERPEN.

LÄS DESSA INSTRUKTIONER FÖRE ANVÄNDNING.
KASSERA EJ.

PRZED UŻYCIEM PROSZĘ PRZECZYTAĆ NINIEJSZĄ INSTRUKCJĘ.
NIE WYRZUCAĆ.

ПЕРЕД ИСПОЛЬЗОВАНИЕМ ПРОСЬБА ОЗНАКОМИТЬСЯ С 
ИНСТРУКЦИЯМИ.
НЕ ВЫБРАСЫВАТЬ.

LEIA AS INSTRUÇÕES ANTES DA UTILIZAÇÃO.
NÃO AS ELIMINE.



2

ENGLISH
Levado™ Height Adjustable Desk Base

SAFETY INSTRUCTIONS/WARNING

PARTS PROVIDED

 WARNING: IMPORTANT SAFETY INSTRUCTIONS – Read Before Using!

≤ 220 lbs

Maximum Weight Including Table Top

≤ 100 kg

A Base x1
B Clamp x2
C Handset x1
D Power cable x1
E Cable Tray x1
F Cable Management x4
G 5mm Allen Key x1
H  M6 Phillips round head screw x14
I  M3 Phillips round head screws x2
J Clamp Covers x2

Additional Tools Required
Phillips Screw Driver

 

A B

C D E

H I JGF

Accomodates table tops with the following dimensions:



3

INSTALL OPTION 1 - CLAMPS

STEP 1
Unboxing

STEP 1B - Only required if table is not 1600mm (63”) wide
Adjust the cross channels to their final lengths

base only



4

240mm (9.5”)

STEP 2
Adjust the position of the frame before attaching it to the table

Rear

Front

STEP 1
Preparing for installation using two people

STEP 3
Clamping base to table

 

INSTALL OPTION 2 - HARDWARE



5

240mm (9.5”) Rear

Front

Front

Rear

ACCESSORY INSTALLATION

STEP 1B - Only required if table is not 1600mm (63”) wide
Adjust the cross channels to their final lengths

STEP 2

STEP 3
Attach base to the table

STEP 1
Cable Management

 



6

OPERATING INSTRUCTIONS

STEP 2
Attach the handset using the included adhesive strip or using two M3 Phillips round head screws 

 

INITIALISE THE SYSTEM 
WARNING:

IMPORTANT:

CAUTION:

STEP 3
Level Feet



7

RESET THE SYSTEM TO FACTORY SETTINGS
To reset the handset to factory settings follow the same instructions as 'Initialise  

GENERAL OPERATION
Move the table up or down by lightly holding your finger on the top or back of the 

The table will continue to move up or down until you release the button or until the 

MEMORY STOP POSITIONS

between the two users momentarily press the M button and display will read U1 or 

CHANGING THE HEIGHT DISPLAY UNITS

Height  
Display

Memory Set 
Button

 

Raise

Lower

FELLOWES LEVADO™ HEIGHT ADJUSTABLE DESK BASE LIMITED WARRANTY 

Australia Residents Only:



8

FRANÇAIS
Base de bureau Levado™ réglable en hauteur

CONSIGNES DE SÉCURITÉ/AVERTISSEMENT

PIÈCES FOURNIES

 
plateau de la table

≤ 100 kg

A 1 base
B 2 attaches

E 1 plateau de câbles

H  14 vis cruciformes M6 à tête ronde
I  2 vis cruciformes M3 à tête ronde

Autres outils nécessaires
Tournevis cruciforme

A B

C D E

H I JGF

Convient aux plateaux avec les dimensions suivantes :



9

OPTION D’INSTALLATION 1 - ATTACHES

ÉTAPE 1
Déballage

ÉTAPE 1B - Uniquement nécessaire si la table ne mesure pas 
1 600 mm (63 po) de large
Ajuster les traverses à leur longueur finale



10

240 mm (9,5 po) 

ÉTAPE 2
Régler la position du cadre avant de le fixer à la table

Avant

ÉTAPE 1

ÉTAPE 3
Serrer la base sur la table

 

OPTION D’INSTALLATION 2 - QUINCAILLERIE



11

240 mm (9,5 po) 

Avant

Avant

INSTALLATION DES ACCESSOIRES

ÉTAPE 1B - Uniquement nécessaire si la table ne mesure pas 1 600 mm 
(63 po) de large
Ajuster les traverses à leur longueur finale

ÉTAPE 2

ÉTAPE 3
Attacher la base à la table

ÉTAPE 1

 



12

MODE D'EMPLOI

ÉTAPE 2

INITIALISER LE SYSTÈME 
AVERTISSEMENT
combiné 
IMPORTANT

ATTENTION  

 

 

Cette opération 

ÉTAPE 3

les pieds

 Tourner dans le sens des aiguilles d'une montre pour abaisser et dans le sens 
inverse des aiguilles d'une montre pour relever



13

RÉINITIALISER LE SYSTÈME AUX PARAMÈTRES D'USINE

FONCTIONNEMENT GÉNÉRAL

POSITIONS D’ARRÊT MÉMORISÉES

MODIFICATION DES UNITÉS D’AFFICHAGE DE LA HAUTEUR

Affichage de la 
hauteur

Bouton de 
réglage de la 

mémoire

Bouton large 

abaisser la table

GARANTIE LIMITÉE DE LA BASE DE BUREAU RÉGLABLE EN HAUTEUR FELLOWES LEVADO™



14

ESPAÑOL
Base de escritorio de altura ajustable Levado™

INSTRUCCIONES DE SEGURIDAD/ADVERTENCIAS

PIEZAS SUMINISTRADAS

≤ 220 libras

Peso máximo incluido el tablero de la mesa

≤ 100 kg

A Base x1

C Terminal x1
D Cable eléctrico x1
E Bandeja portacables x1
F Administración de cableado x4
G Llave Allen de 5 mm x1

redonda x14

redonda x2

Otras herramientas requeridas
Destornillador Phillips

A B

C D E

H I JGF

Adaptable a tableros de mesa de las siguientes dimensiones:



15

OPCIÓN DE INSTALACIÓN 1 - ABRAZADERAS

PASO 1
Desembalaje

PASO 1B - Solo necesario si la mesa no mide 1600  mm 
(63 pulgadas) de ancho
Ajuste las canaletas transversales a sus longitudes finales

 solamente a la base



16

240 mm (9,5 pulg.)

PASO 2
Ajuste la posición del marco antes de fijarlo al tablero

Parte trasera

Parte delantera

PASO 1
Preparación para la instalación entre dos personas

PASO 3
Sujeción de la base al tablero

 

OPCIÓN DE INSTALACIÓN 2 - TORNILLOS



17

240 mm (9,5 pulg.) Parte trasera

Parte delantera

Parte delantera

Parte trasera

INSTALACIÓN DE ACCESORIOS

PASO 1B - Solo necesario si la mesa no mide 1600 mm (63 pulgadas) de 
ancho
Ajuste las canaletas transversales a sus longitudes finales

 

PASO 2

PASO 3
Fije la base a la mesa

 

 

PASO 1
Administración de cableado



18

INSTRUCCIONES DE FUNCIONAMIENTO

PASO 2

INICIALICE EL SISTEMA 
ADVERTENCIA
terminal  

IMPORTANTE

PRECAUCIÓN  

 

 

Esto 

 

PASO 3
Nivele las patas

encuentran debajo de las patas

 
contrario a las agujas del reloj para subirlos



19

RESTABLECIMIENTO DEL SISTEMA A LOS AJUSTES DE FÁBRICA

FUNCIONAMIENTO GENERAL
Mueva la mesa hacia arriba o hacia abajo manteniendo ligeramente el dedo en la parte 

MEMORIZACIÓN DE POSICIONES DE PARADA

pueden almacenar hasta cuatro posiciones de parada para guardar alturas determinadas de la 

CAMBIO DE LAS UNIDADES DE ALTURA DE LA PANTALLA

altura
Botón de 

configuración 
de la memoria

Botón de 
palanca para 

Subir

Bajar

GARANTÍA LIMITADA DE LA BASE DE ESCRITORIO AJUSTABLE EN ALTURA LEVADO™ DE FELLOWES

Residentes de Australia solamente:



20

DEUTSCH
Höhenverstellbares Schreibtischgestell Levado™

SICHERHEITSHINWEISE/WARNHINWEIS

IM LIEFERUMFANG ENTHALTENE TEILE

 WARNUNG: WICHTIGE SICHERHEITSHINWEISE – Alle Hinweise vor dem Gebrauch lesen!

Maximales Gewicht einschließlich Tischplatte

≤ 100 kg

A Gestell x1
B Klemme x2
C Steuereinheit x1

E Kabelablage x1
F Kabelführung x4

H  Linsenkopfschraube mit 

I  Linsenkopfschraube mit 

J Klemmenabdeckungen x2

Andere erforderliche 
Werkzeuge

A B

C D E

H I JGF

Passend für Tischplatten mit den folgenden Abmessungen:



21

INSTALLATIONSOPTION 1 - KLEMMEN

SCHRITT 1
Auspacken

SCHRITT 1B – Nur erforderlich, wenn die Tischplatte nicht 
1600 mm breit ist
Einstellen der Querstreben auf ihre endgültige Breite

 Das Gestell ohne die Tischplatte



22

24 cm

SCHRITT 2
Positionieren des Gestells vor dem Befestigen an der Tischplatte

der Tischplatte entsprechen und an den vorgebohrten Löchern der Tischplatte Rückseite

SCHRITT 1

  WARNUNG: 

SCHRITT 3
Festklemmen des Gestells an der Tischplatte

 Klemmen an den Seiten der Tischplatte in 

An jeder Klemme die beiden Daumenschrauben 

INSTALLATIONSOPTION 2 – SCHRAUBEN



23

24 cm Rückseite

Rückseite

INSTALLATION DES ZUBEHÖRS

SCHRITT 1B – Nur erforderlich, wenn die Tischplatte nicht 160 cm breit ist
Einstellen der Querstreben auf ihre endgültige Breite

 

SCHRITT 2
Positionieren des Gestells vor dem Befestigen an der Tischplatte

SCHRITT 3
Befestigen des Gestells an der Tischplatte

dass das 

 

SCHRITT 1
Kabelführung



24

GEBRAUCHSANLEITUNG

SCHRITT 2

DAS SYSTEM INITIALISIEREN 
ACHTUNG:
Steuereinheit ausüben 
WICHTIG

VORSICHT  

 

Dies kann je 

 

SCHRITT 3
Einstellen der Höhe an den Tischbeinen

 



25

DAS SYSTEM AUF DIE WERKSEINSTELLUNGEN ZURÜCKSETZEN

ALLGEMEINER BETRIEB

SPEICHER-STOPP-POSITIONEN

ÄNDERN DER HÖHENEINSTELLUNGSEINHEITEN

Speichertaste

Nach oben

Nach unten

FELLOWES LEVADO™ BESCHRÄNKTE GARANTIE HÖHENVERSTELLBARES SCHREIBTISCHGESTELL

Nur für Australien:



26

ITALIANO

ISTRUZIONI DI SICUREZZA/AVVERTENZE

COMPONENTI INCLUSI

≤ 220 libbre

Peso massimo incluso il piano del tavolo

≤ 100 kg

A Base x1
B Morsetto x2
C  Dispositivo di controllo 

E Guida per cavi x1
F Portacavo x4
G Chiave a brugola da 5 mm x1

J Coprimorsetto x2

Altri utensili necessari
Cacciavite a stella

A B

C D E

H I JGF

Adatto a piani d'appoggio con le seguenti dimensioni:



27

OPZIONE DI INSTALLAZIONE 1 - MORSETTI

FASE 1
Disimballaggio

 

FASE 1B - Necessaria solo per tavoli di larghezza diversa 
da 1600 mm (63”)

solo la base



28

240 mm (9,5”)

FASE 2

filo con entrambe le estremità della scrivania e che siano allineati ai fori già Parte posteriore

Parte anteriore

FASE 1

 
 ATTENZIONE: punto di pericolo! Tenere le mani ed eventuali 

FASE 3
Fissare la base al tavolo

 Far scivolare i morsetti su entrambi i lati 

OPZIONE DI INSTALLAZIONE 2 - PARTI METALLICHE



29

240 mm (9,5”) Parte posteriore

Parte anteriore

Parte anteriore

Parte posteriore

INSTALLAZIONE DEGLI ACCESSORI

FASE 1B - Necessaria solo per tavoli di larghezza diversa da 1600 mm 
(63”)

FASE 2

FASE 3
Fissare la base al tavolo

Accertare il corretto allineamento 

FASE 1

 



30

ISTRUZIONI PER L'USO

FASE 2

INIZIALIZZARE IL SISTEMA 
ATTENZIONE
leggera pressione al centro del dispositivo  

IMPORTANTE

ATTENZIONE
circostanti siano sufficientemente lontani dal tavolo 

il 

 

FASE 3
Livellare i piedini



31

RESETTARE IL SISTEMA ALLE IMPOSTAZIONI DI FABBRICA

FUNZIONAMENTO GENERALE

MEMORIZZAZIONE DELLE POSIZIONI DI ARRESTO

 

MODIFICA DELLE UNITÀ DI VISUALIZZAZIONE DELL’ALTEZZA

Pulsante di 

memoria

Pulsante di 

abbassamento

Sollevamento

Abbassamento

GARANZIA LIMITATA DELLA BASE PER SCRIVANIA AD ALTEZZA REGOLABILE FELLOWES LEVADO™

Solo per i residenti in Australia:



32

NEDERLANDS
Levado™ In hoogte verstelbare bureaubasis

VEILIGHEIDSINSTRUCTIES / WAARSCHUWINGEN:

GELEVERDE ONDERDELEN

Maximumbelasting inclusief bureaublad

≤ 100 kg

A Basis x1
B Klem x2
C Bedieningspaneel x1
D Stroomkabel x1
E Kabelgoot x1
F Kabelgeleiding x4

kop x14

kop x2
J Klembedekking x2

Verder benodigde 
gereedschappen

A B

C D E

H I JGF

Geschikt voor tafelbladen met de volgende afmetingen:



33

INSTALLATIE-OPTIE 1 - KLEMMEN

STAP 1
Uitpakken

STAP 1B - Alleen nodig als het bureaublad niet 1600 mm breed is
Pas de dwarsverbindingen aan voor de uiteindelijke lengtes

alleen de basis



34

240 mm

STAP 2
Pas de positie van het frame aan voordat u dit aan het bureaublad bevestigt

STAP 1

STAP 3
De basis aan het bureaublad klemmen

 

INSTALLATIE-OPTIE 2 - HARDWARE



35

240 mm

INSTALLATIE TOEBEHOREN

STAP 1B - Alleen nodig als het bureaublad niet 1600 mm breed is
Pas de dwarsverbindingen aan voor de uiteindelijke lengtes

 

STAP 2

STAP 3
De basis aan het bureaublad bevestigen

 Zorg ervoor dat een en 

STAP 1
Kabelgeleiding



36

GEBRUIKSINSTRUCTIES

STAP 2

INITIALISEER HET SYSTEEM 
WAARSCHUWING
midden van de handset  

BELANGRIJK

WAARSCHUWING
voorwerpen vrij staan van het bureau 

licht  

STAP 3
Waterpas poten

aan de poten bevinden



37

HET SYSTEEM TERUGZETTEN NAAR DE FABRIEKSINSTELLINGEN

ALGEMENE WERKING

STOPPOSITIES GEHEUGEN

DE WEERGAVE-EENHEDEN VOOR HOOGTE WIJZIGEN

Hoogtedisplay Instelknop 
geheugen

Hendel 

verlagen

BEPERKTE GARANTIE FELLOWES LEVADO™ IN HOOGTE VERSTELBAARE BUREAUBASIS 

Alleen voor inwonenden van Australië:

 



38

SVENSKA
Levado™ höjdjusterbar skrivbordsbas

SÄKERHETSANVISNINGAR/VARNING

MEDFÖLJANDE DELAR

 

≤ 220 lbs

Maximal vikt inklusive bordsskiva

≤ 100 kg

A Bas x1

C Handenhet x1
D Strömsladd x1
E Kabelstege x1
F Kabelhanteringsverktyg x4
G Insexnyckel på 5 mm x1

Ytterligare nödvändiga verktyg
Kryssmejsel

 Underlåtenhet att följa dessa instruktioner kan leda till skada på utrustning eller 

A B

C D E

H I JGF

Passar bordsskivor med följande mått:



39

INSTALLATIONSALTERNATIV 1 - KLÄMMOR

STEG 1
Uppackning

STEG 1B - Krävs endast om bordet inte är 1600 mm brett.

endast basen



40

240 mm

STEG 2

Baksida

Framsida

STEG 1
Förbered för installation med två personer

STEG 3

INSTALLATIONSALTERNATIV 2 - HÅRDVARA



41

240 mm Baksida

Framsida

Framsida

Baksida

INSTALLATION AV TILLBEHÖR

STEG 1B - Krävs endast om bordet inte är 1600 mm brett.

 

STEG 2

STEG 3

STEG 1
Kabelhantering



42

ANVÄNDNINGSINSTRUKTIONER

STEG 2

INITIERA SYSTEMET 
VARNING

VIKTIGT

OBS!  

STEG 3
Justera fötternas höjd

på fötternas undersida



43

ÅTERSTÄLL SYSTEMET TILL DESS FABRIKSINSTÄLLNINGAR

ALLMÄN DRIFT

MINNESLAGRADE STOPPLÄGEN

 

ÄNDRING AV HÖJDDISPLAYENS ENHET

Höjddisplay Knapp för Paddel för 

Höj

BEGRÄNSAD GARANTI FÖR FELLOWES LEVADO™ HÖJDJUSTERBAR SKRIVBORDSBAS 

Enbart för konsumenter i Australien:



44

POLSKI
Podstawa do biurka Levado™ z regulacją wysokości

INSTRUKCJE BEZPIECZEŃSTWA / OSTRZEŻENIE

CZĘŚCI ZNAJDUJĄCE SIĘ W ZESTAWIE

 OSTRZEŻENIE: WAŻNE WSKAZÓWKI DOTYCZĄCE BEZPIECZEŃSTWA — przeczytać przed użyciem!

≤ 220 lbs

Maksymalna masa z blatem

≤ 100 kg

A Podstawa x1

B Zacisk x2

C Panel sterowania x1

D Przewód zasilający x1

E Korytko kablowe x1

F  System zarządzania 
okablowaniem x4

G Klucz imbusowy 5 mm x1

H  Śruba krzyżakowa M6 z łbem 
okrągłym x14

I  Śruby krzyżakowe M3 z łbem 
okrągłym x2

J Pokrywy zacisków x2

Wymagane dodatkowe 
narzędzia
Wkrętak z grotem typu Phillips

A B

C D E

H I JGF

Pasuje do blatów o następujących wymiarach:



45

MONTAŻ, OPCJA 1 – ZACISKI

KROK 1
Rozpakowywanie

Ryzyko zakleszczenia! Podczas podnoszenia nóg trzymać dłonie i obiekty 

KROK 1B – wymagany tylko w sytuacji, gdy stosowany jest 
blat o szerokości innej niż 1600 mm (63”)

samą podstawę



46

240 mm (9.5”)

KROK 2
Dostosować położenie ramy przed przymocowaniem jej do blatu

biurka; dopasować je do nawierconych otworów w blacie
Tył

Przód

KROK 1
Przygotowania do montażu z udziałem dwóch osób

 

KROK 3
Mocowanie podstawy do blatu zaciskami

MONTAŻ, OPCJA 2 – SPRZĘT



47

240 mm (9.5”) Tył

Przód

Przód

Tył

MONTAŻ AKCESORIÓW

KROK 1B – wymagany tylko w sytuacji, gdy stosowany jest blat o szerokości 
innej niż 1600 mm (63”)

KROK 2

KROK 3
Przymocować podstawę do blatu

 Dopasować 

KROK 1
System zarządzania okablowaniem

 W  razie konieczności wykorzystać dodatkowy znajdujący się w  zestawie system zarządzania 



48

INSTRUKCJA OBSŁUGI

KROK 2
Przymocować panel sterowania przy pomocy dołączonego paska przylepnego lub z dwóch śrub krzyżakowych M3 z łbem okrągłym 

INICJALIZACJA SYSTEMU 
OSTRZEŻENIE

WAŻNE

PRZESTROGA

 

 

KROK 3
Równe ustawienie stopek

 



49

ZRESETOWAĆ SYSTEM DO USTAWIEŃ FABRYCZNYCH

OBSŁUGA

Blat będzie się przesuwał w górę lub w dół do momentu zwolnienia przycisku lub osiągnięcia maksymalnej 

ZAPAMIĘTANE POŁOŻENIA

ZMIANA JEDNOSTEK NA WYŚWIETLACZU WYSOKOŚCI

Wyświetlacz 
wysokości

Przycisk 

pamięci

Panel do 

obniżania

Podnoszenie

Opuszczanie

PODSTAWA DO BIURKA LEVADO™ Z REGULACJĄ WYSOKOŚCI – OGRANICZONA GWARANCJA 

Tylko dla mieszkańców Australii:



50

РУССКИЙ
Регулируемый по высоте стол Levado™

ИНСТРУКЦИИ ПО ТЕХНИКЕ БЕЗОПАСНОСТИ/ПРЕДУПРЕЖДЕНИЕ

ПРЕДУСМОТРЕННЫЕ ДЕТАЛИ

 ПРЕДУПРЕЖДЕНИЕ: ВАЖНЫЕ ПРАВИЛА ТЕХНИКИ БЕЗОПАСНОСТИ — Прочтите перед использованием!

≤ 220 фунтов

≤ 100 кг

A Основание x1

B Зажим x2

F Кабель-канал x4

H  Винт M6 Phillips с круглой 
головкой x14

I  Винт M3 Phillips с круглой 
головкой x2

Другие необходимые 
инструменты

A B

C D E

H I JGF



51

ВАРИАНТ УСТАНОВКИ 1 - ЗАЖИМЫ

ШАГ 1
Распаковка

ШАГ 1B - Для столов уже или шире 1600 мм (63 дюйма)
Отрегулируйте поперечные каналы до окончательной длины

два



52

240 мм 
(9,5 дюймов)

ШАГ 2

ШАГ 1

 

ШАГ 3
Крепление основы к столу

ВАРИАНТ УСТАНОВКИ 2 - ОБОРУДОВАНИЕ



53

240 мм 
(9,5 дюймов)

УСТАНОВКА АКСЕССУАРОВ

ШАГ 1B - Для столов уже или шире 1600 мм (63 дюйма)
Отрегулируйте поперечные каналы до окончательной длины

 

ШАГ 2

ШАГ 3

 Убедитесь в верном 

ШАГ 1
Кабельный желоб



54

РУКОВОДСТВО ПО ЭКСПЛУАТАЦИИ

ШАГ 2

ИНИЦИАЛИЗАЦИЯ СИСТЕМЫ 
ОСТОРОЖНО!

ВАЖНАЯ ИНФОРМАЦИЯ!

ВНИМАНИЕ!

 

ШАГ 3
Уровень ног

 

поднимет



55

СБРОС СИСТЕМЫ ДО ЗАВОДСКИХ НАСТРОЕК

ОБЩАЯ ЭКСПЛУАТАЦИЯ

ПАМЯТЬ ПОЛОЖЕНИЙ

ИЗМЕНЕНИЕ ЕДИНИЦ ОТОБРАЖЕНИЯ ВЫСОТУ

Отображение 

высоты

Кнопка 

настройки 
Педаль 

Опускание

ОГРАНИЧЕННАЯ ГАРАНТИЯ КОМПАНИИ FELLOWES НА РЕГУЛИРУЕМЫЙ ПО ВЫСОТЕ СТОЛ LEVADO™



56

PORTUGUÊS
Base de mesa de altura ajustável Levado™

INSTRUÇÕES DE SEGURANÇA/ADVERTÊNCIA

PEÇAS FORNECIDAS

≤ 220 lbs

Peso máximo incluindo o topo da mesa

≤ 100 kg

A Base x1
B Fixador x2
C Conjunto x1
D Cabo de alimentação x1
E Suporte para cabos x1
F Gestão de cabos x4
G Chave Allen de 5 mm x1
H  Parafusos de cabeça redonda M6 

Phillips x14
I  Parafusos de cabeça redonda M3 

Phillips x2
J Tampas de fixador x2

Ferramentas adicionais 
necessárias
Chave de fendas Philips

A B

C D E

H I JGF

Acomoda tampos de mesa com as seguintes dimensões:



57

OPÇÃO DE INSTALAÇÃO 1 - FIXADORES

PASSO 1
Desembalar

PASSO 1B - Apenas necessário se a mesa não tiver 
1600 mm (63”) de largura
Ajuste as travessas da estrutura para o comprimento final

base apenas



58

240 mm (9,5”) 

PASSO 2
Ajuste a posição da estrutura antes de a fixar à mesa

Traseira

Frente

PASSO 1
Preparar a instalação com a ajuda de duas pessoas

PASSO 3
Fixar a base à mesa

 

OPÇÃO DE INSTALAÇÃO 2 - ESTRUTURA



59

240 mm (9,5”) Traseira

Frente

Frente

Traseira

INSTALAÇÃO DE ACESSÓRIOS

PASSO 1B - Apenas necessário se a mesa não tiver 1600 mm (63”) de 
largura
Ajuste as travessas da estrutura para o comprimento final

PASSO 2

PASSO 3
Fixar a base à mesa

PASSO 1
Gestão de cabos



60

INSTRUÇÕES DE FUNCIONAMENTO

PASSO 2

INICIAR O SISTEMA 
AVISO

IMPORTANTE

ATENÇÃO  
desimpedida de objetos 

10 a 

 

PASSO 3
Nivelar os pés

na parte inferior dos pés



61

REINICIAR O SISTEMA PARA AS CONFIGURAÇÕES DE FÁBRICA

FUNCIONAMENTO GERAL
Mova a mesa para cima ou para baixo mantendo levemente o dedo na parte superior ou 

POSIÇÕES DE PARAGEM DE MEMÓRIA

MUDAR AS UNIDADES DE VISUALIZAÇÃO DE ALTURA

Ecrã de altura Botão de 
definição de 

memória

Placa de 

descida

Elevar

Descer

GARANTIA LIMITADA DE BASE DE MESA DE ALTURA AJUSTÁVEL FELLOWES LEVADO™ 

Exclusivamente para os residentes da Austrália:



62

W.E.E.E.

 English   

 

French  

  

Spanish  

  

German   

 

Italian   

 

Dutch  

 

Swedish   

Polish    

 

Russian     

Portuguese      

 
 



1789 Norwood Avenue, Itasca, Illinois 60143      1-800-955-0959      www.fellowes.com

© 2023 Fellowes, Inc. | Part #872472 Rev I

CUSTOMER SERVICE & SUPPORT
www.fellowes.com
Europe Freephone: 00800-1810-1810
Benelux: +31-(0)-13-458-0580
Deutschland: +49 (0)511 545489-0
France: +33 (0) 1 78 64 91 00
Italia: +39-071-730041

Declaration of Conformity
Fellowes Benelux B.V.
Gesworenhoekseweg 3a, 5047 TM Tilburg, The Netherlands declares that the product model(s) Levado conforms to the requirements of: 

[2011/65/EU+2015/863/EU] Restriction of Hazardous Substances Directive 
[2009/125/EC] Ecodesign Directive
[2014/30/EU] Electromagnetic Compatibility Directive 
[2012/19/EU] Waste on Electrical and Electronic Equipment (WEEE) Directive  
[2014/35/EU] Low Voltage Directive
[2006/42/EC] Machinery Directive

Mechanical Safety:  EN 527-1: 2011 
 EN 527-2: 2016
 EN 527-3: 2003
 EN 1730:2012
  
Electrical Safety: IEC/EN 60335-1: 2019
 EN 62233: 2008
 EN 61558-1:2009
 EN 61558-2-16: 2013
 EN 50563:2011

EMC: EN 55014-1: 2017 + A11:2020
 EN 55014-2: 2015
 EN 61000-3-2: 2019
 EN 61000-3-3: 2013 + A1:2019 

Year Affixed: 2022

Itasca, Illinois, USA
January 1, 2022   

UK Declaration of Conformity
Fellowes Ltd.
Unit 2 Ontario Drive, New Rossington, Doncaster, DN11 0BF, England declares that the product model(s) Levado conforms to the requirements of: 

Restriction of the Use of Certain Hazardous Substances in Electrical and Electronic Equipment Regulations 2012
The Ecodesign for Energy-Related Products Regulations 2010
Electromagnetic Compatibility Regulations 2016
The Waste Electrical and Electronic Equipment Regulations 2013
Electrical Equipment (Safety) Regulations 2016
Supply of Machinery (Safety) Regulations 2008

Mechanical Safety: BS EN 527-1: 2011 
 BS EN 527-2: 2016
 BS EN 527-3: 2003
 BS EN 1730:2012
  
Electrical Safety: IEC/EN 60335-1: 2019
 BS EN 62233: 2008
 BS EN 61558-1:2009 
 BS EN 61558-2-16: 2013
 BS EN 50563:2011

EMC: BS EN 55014-1: 2017 + A11:2020
 BS EN 55014-2: 2015
 BS EN 61000-3-2: 2019
 BS EN 61000-3-3: 2013 + A1:2019 

Year Affixed: 2022

Itasca, Illinois, USA
January 1, 2022   

John Fellowes
President & CEO

John Fellowes
President & CEO

Polska: +48 (22) 205-21-10
España/Portugal: +34-91-748-05-01
United Kingdom: +44 (0) 1302 836836
Australia: 1800 33 11 77



63


